Wheel Lock Assembly
(4 Pole Motors Before 8/17/10 US and Canada)

Motor mounting
hardware reference

NOTE: Use existing motor
mounting hardware.



Wheel Lock Assembly
(4 Pole Motors Before 8/17/10 US and Canada)

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 1054510-NLA | NLA - Bracket, Wheel Lock Mount, Black - Right 1 1
1 1054512-NLA | NLA - Bracket, Wheel Lock Mount, Black - Left 1 1
2 1054508-NLA | NLA - Link, Inside, Black 1 1
3 7930334-NLA | NLA - Locknut (1/4-28) 25 1
4 1031833-NLA | NLA - Shoe, Wheel Lock 1 1
5 7930323-NLA | NLA - Package, Locknut (1/4-20) 25 1
6 7930326-NLA | NLA - Package, Screw, Hex Head (1/4-20 x 3/4") 25 1
7 1026033 Washer, Nylon (1/4 x 1/2 x 1/16") 1 9
8 1018733-NLA | NLA - Link, Stop, Black 1 1
9 1028687 Screw, Hex Head (1/4-28 x 3/4") 1 2
10 1021408-NLA | NLA - Handle, Wheel Lock, Black - Right 1 1
10 1021409-NLA | NLA - Handle, Wheel Lock, Black - Left 1 1
11 47376X024 Tip, Rubber Wheel Lock Handle, Black 1 1
12 1026105-NLA | NLA - Spacer, Nylon (1/4 x 7/16 x 1/8") 1 1
13 1054513-NLA | NLA - Plate, Wheel Lock Base, Black - Right 1 1
13 1054514-NLA | NLA - Plate, Wheel Lock Base, Black - Left 1 1
14 1026907 Washer (1/4 x 1/2 x 1/16") 1 1
15 1054515-NLA | NLA - Wheel Lock Assembly, Right 1 1
15 1054516-NLA | NLA - Wheel Lock Assembly, Left 1 1




